A & ol & AF & Ml A
20189 = =20l& ASSHEES
g 200 Mel+=¢
2 210 ZHEAA+Y
g 216 Ol A== (Sl &&)
Z2-2-8-5 Off &4 & E Ol At Hns2
= Al 2,531,172 2,357,836 173,336
200 M2l +=¢ 29,800 29,800 0
210 & HAN 2= 3,000 3,000 0
216 Ol Xt==¢ 3,000 3,000 0
216-01 33030l K== 3,000 3,000 0
< FOMEXR D > 3,000 3,000 0
© 33023 0I& 3,000,000& 3,000
220 SAIH A2l == 26,800 26,800 0
224 JIEt=¢ 800 800 0
224-06 12 =+¢ 800 800 0
< FLMEXAL > 800 800 0
© &=+¥ 800,000& 800
225 A= 4¢l 26,000 26,000 0
225-01 At AE =g 26,000 26,000 0
< FOMEXE DY > 26,000 26,000 0
O RE0S= € &=+3 26,000, 000& 26,000
500 EX3 463,352 476,627 A13,275
510 = DEX3S 394,220 405,640 A 11,420
511 =102X=S 394,220 405,640 A11,420
511-01 212X 394,220 405,640 A11,420
< FOMEXE DY > 394,220 405,640 A 11,420
O 9230 MXNHHMIBAEZ(ASSHELEHZY])
149,098,000 149,098
O 2dz230 XMXNSHHMILAEEX (AL MESTHI T AEH)
82,428,000& 82,428
O =220 MXNLHIAER(ZHAZET) 162,694,000 162,694
520 Al - SHIRZZSS 69,132 70,987 A 1,855
521 Al - EHIEXS S 69,132 70,987 A~ 1,855
521-01 Al - EHIEEXZ2 S 69,132 70,987 A 1,855
< FUMSTAL > 69,132 70,987 A~ 1,855
O O 95820 NXNHHIBAEZT (A2 S0 LHEAH])
26,237,000& 26,237
O 2A=230 XMXNSHHMIAMER (AL ME XY T ALEH)
14,424,000& 14,424
O =220 NXHHILEZ(ZHASET) 28,471,000 28,471
700 EXM =L SHUENH 2,038,020 1,851,409 186,611
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